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1.85. (1 + sin 5) (1 — sin 5)’

1 1

1.87. coslza - tg°a (cos’a + 1).
188. (1 + sinB)ctg’f — —=—.
sin“f
cos? 2%
189 — 2
. Ta
smT -1

1.90. (sina + cos @)? + (sina ~ cos @)’
2

1.91. (igf + cigf)® — (1gB — cigP)>.
L92. (1 +1tga)’+ (1 —tga)’

L93. (1 + ctgB)* + (1 — ctg B)°.
1.94. sin‘a + 2sina cos’a + cos*a.

Hokazamb moscoecmea

1141, sin®a + cos®a + 3 sin’a cos’e = 1.
1.142. 2 (sin®a + cos®a) — 3 (sin*a + cos*a) = —1.
4 . 4
L143, LoCs Bosinf o, stp.
tg°8
-2
$
L152. tg'e + tgfa = m,,a.
cos'a
L153. 1 + sina +cosa + ctga = (1 + sine)(1 + ctga).
sina +tga
1+cosa

1.154. = tga.
cosatg’a 1

L155. 1 + 1+cose =~ cosa’

L156. 1 + (ctg’a — tg’ @) cos’ @ = ctga.

(sine +cosa)’ - 1

_ 2
tga —sinacosa 2ctga

L157.

1.103.
1.104.

L.105.
1.106.
L107.

I1.108.
1.109.

L.110.

L.118.
L.119.
1.120.
L.121.
I.122.

sina cos’a (tg%a + ctg’a + 2).

sina sin

1+ cosa 1—-cosa’
cos 3 cos B

1+sinf 1-sing’

sin x
clgx + 1+cosx’
coS X

gx + 1+ sinx’

1 —sinx COS X
cosx  1+sinx
sin ¢ 1+ cose

1—cosg  sing
sin o 1+ cosa

1+cosa sina

cos*a — cos’a + sina.

< 4 .2 2 2
sin*a + sin’a cos’a + cos’a.
sina + sin?a cos’a + cos*a.
sin®a — cos*a + cos’a.

cosa + sin*a cos’a — cos’a — 1.



